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Explain the principle of Shurt resistance.

Describe a meter bridge. How it is used for the rneasurement of resistivity.
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Two cells of ernf 12 V and 5 V and three resistances
connected as Shown. Find the current i,, i, and I usin_e

2ei. 3ei and 4o are

Kirchhofls laws.
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calculate the magnetic field due to a straight conductor of lengh 0.5m carrying acurrent of 3 A at a poht equidistant from the ends of the conductor and 5 cmaway from its centrc.

Describe *'ith necessan' theon. the construction and u,orking of a mor.in_q coiigalvanonteter

Hou' can a galr'anometer be convefied into a vortmeter ? A garvanometer havinga resisrance 50e gives fulr scale dcflectio, for r0 ,A. w,h what resistanceconnected in series, the galvanometer can be convefted into a voltmeter ofrange5V? -'
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Which are the main characteristics of laser radiatton ?

with the help of a neat diagram, exprain the working of He-Ne raser.

-what 
is meant by pumping ? How this is achieved in solid and gas lasers ?Write down the main applications of lasers.
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(a) The threshold frequency for initiating photoelectric effect in a rnetal is 5 x 1014 Lrz.calculate the frequency of radiation that should be incident on this metal to get
electrons of kinetic energy 3.15 x l0-re J.

(b) what are the essential components of a nuclear reactor ? Describe the functions
of each component.

(c) A star derived its energy from the fusion of 4 protons to produce a helium nucleus
and 2 positrons' calculate the energy released in Mev if the masses of proton,
helium and positron are respectively 1.007g3u; 4.0026uand 0.00055u. Assume
that iu is equivalent to 931 MeV.
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